8 C Kaac

JIlema ypoKy:
BcCl Aall 3
IMEHOBAHUNMWU

YCaMu




BukoHal 0ii 3 imeHo8aHUMU YUCAAMU

24 Kr — 6 Kr = 24 Kr : 6 =
30cm:6cm = 24 Kr + 6Kr =
24 Kr : 6 Kr = 30m:6=



Hanau 1 KOXXHOro iIMeHOBaHOIo YUCAa

30 rpH, 18 M, 42 ,
30 x8, 12 n, 54 Kr.

[Mpo4ynTam NOSACHEHHS.
LLlo6 3HanT NONOBUHY YmMcna, NOTPIOHO NOAINNTU
MOro Ha 2.

%qmcna10—ue10:2=5

%qmcna18—u.e18:2=9




% MaCH C/NI0Ha







Obyucnu:

3KMI950 M+ 4 km 806 M=
28 1 06 Kr -9 1 19 Kkr=
10 08 Kr -4 u 18 Kr=
10 km 076 M+3 KM 830 M™m




BukoHam air:
15rop 16 xB + 9 rog 49 x8
5pi6 6 ron-2 pobu 18 rop
5 ni6 6 ron + 4 poébu 3 ropg,
AN, 10xB 30 %25 XB 45 c
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